EARAROBEEIERT — 2 N— IBISH —F

20195F9H250 (k) 7HEIARHESH

ﬁékdﬁkiﬁd%%fé@?— XN ARB BB Y IR—K EEE R
[A&4£] 1 #:1,700,000 3 ~ 2 7% :680,000 @ 3 7#&:425,000 @ 4 7% :255,000 @ 5 7 :170,000 M
B\ ®RBE mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
11l |F=s/nqV o6 sﬂéligﬂ“i‘a 1:(1_5).6 1-1-1 [39.2| — 4 494 ég;ﬁ(ﬂaﬁ)
R:O—S XA 2414 B hF2IN—t> b (-3) AT
205|5 | XRTFLINT— o4 | HEEE 1:(126).0 555 |38.6) — | 6 | 472 %%771;2 (#348)
R:IAY>TTvva BiLA>K—VIF LA (-3) FEEREHS
3 RS E I TN P #H 5 gg?gﬁz 1(:11/62.>l 332 [39.6| — | 1 | 5% E?E% (#a48)
R:w>Ny&rHhT7r B:vARxY—%UZ © EvJdLy RT77—L4
4l8l11| 7Lt i 5 | EED OB 444 [30.5| — | 5 | 430 Eg%ﬁ (#248)
R:¥xvT7robyw—L B:vIHE2 (62) HET77— L
55| Fr—3>TUK o4 | DHER 1(716t>5 777 89.0( — | 2 | 505 gggi (niey)
LT r—IUTY BT LS N 9 77 —n
6 g| IXEFUIX H o6 %ﬁkﬁk 1:(116).7 10-8-8 [39.1| — 3 465 gigﬂggﬁ%)
LT ETA VA=Y BTNy~ 0 Dgkan suss77-4
7 4| b=TUURT 4 — it 4 g{'&ﬁ 1:(116>.9 6-66 [39.4| — 8 412 ﬁ%g (fat)
L KY—LYr—=— Bih—FIZFU— R e
glglip| I—F -+t 5 | BERE 1(:11/72.)0 899 |39.2] — | 9 | 465 é?ﬁi Z(»rar%)
RihxEFY B35/ huSany #2) | gz
9l7l10l P—F251> 9 sﬂi_ﬁ;ﬂé}% 1:(127).4 12-12-11 | 39.5| — | 11 | 484 gggi% :EE;
QT YIF—L BIHAATA 2 | ias
1wl 2|77V ystEyz 47 ?E%IE 1(:31;4.)6 2-2-3 | 41.2| — 7 | 558 fggg; (1)
RT—NFAYLF— B h—I—H S it
"nlzlo| 71 —ANT> % 4 | WBER nine 171010 | 40.0 | — | 10 | o0 | B (k)
R:TROFLITEL B AR THEAT 0 |55 ks
128Y 3 | F—IV EHHR—IL f 5 gfﬁ%? (11:118/.21) 9-11-12 |40.2| — | 12 | 437 gg%g (#a1E)
Qir—3UT> BiLF<wnn | s
® I —F—EBIERL
13—7—
Aol=5r= 1,2,7,11,5,4,6,12,3,8,9,10
G§a=7r= 1,2,7,11,5,4,6,8,12,9,3,10
41—+ — 1,7,2,11,5,4,6,8,12,9,10,3
[ F/N=5
B 1 660M | | 71 R 1-5 780/ | | # = 1-5 1,170/ | | 3&# 1-5-7 2,250/
7 B 1 180 1-7 330 | | B B 1-5 2,420/ | | 3EE 1=5=7 21,070
5 260M 5-7 670M | | & & 1-5 2,400/
7 1509 B H 55 5,390M

ABICOVWTRDTEEERROODE. TR LIV,




